










An uncertain number of persons are sitting in a 

straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. 

Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the 

right extreme ends of the row. X sits on the 

extreme end of the row. As many people sit 

between R and U as many between U and S. Y 

sits second to the left of V, who is an immediate 

neighbor of Q. Not more than two persons sit 

between V and S. Five people sit between S and 

X. As many people sit between S and W as many 

between W and X.

व्यक्तियों की एक अक्तिक्तित संख्या एक सीधी रेखा में 

उत्तर की ओर उन्मखु होकर बैठी ह।ै P और Q के बीच 

तीि व्यक्ति बैठे हैं। R, P के दायें से दसूरे स्थाि पर बैठा

ह।ै Q और S के बीच केवल तीि लोग बैठे हैं। T, P के 

ठीक बायें ह।ै R पंक्ति के दायें अकं्ततम छोर से पांचवें स्थाि 

पर बैठा ह।ै X पंक्ति के अकं्ततम छोर पर बैठा ह।ै R और U 

के बीच उतिे ही लोग बैठे हैं क्तितिे U और S के बीच 

बैठे हैं। Y, V के बाए ंसे दसूरे स्थाि पर बैठा ह,ै िो Q का 

क्तिकटतम पडोसी ह।ै V और S के बीच दो से अक्तधक 

व्यक्ति िहीं बैठते हैं। S और X के बीच पांच व्यक्ति बैठते 

हैं। S और W के मध्य उतिे ही व्यक्ति बैठे हैं क्तितिे W 

और X के मध्य बैठे हैं।



An uncertain number of persons are sitting in a straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the right extreme ends of the row. X sits on the extreme 

end of the row. As many people sit between R and U as many between U and S. Y sits second to 

the left of V, who is an immediate neighbor of Q. Not more than two persons sit between V and S. 

Five people sit between S and X. As many people sit between S and W as many between W and X.



M 4 # 6 7 O H 3 % S C @ 8 X & * Q Y © Z B D 1 ? F E 

Four of the following five are alike in a certain way on the basis of their 

positions in the above arrangement and so form a group. Which is the one 

that does not belong to the group ? 

उपरोि व्यवस्था में अपिी क्तस्थक्तत के आधार पर क्तिम्िक्तलक्तखत पांच में से चार एक क्तिक्तित 

तरीके से समाि हैं और एक समहू बिाते हैं। वह कौि सा ह ैिो समहू से संबंक्तधत िहीं ह?ै

01. M#O 02. H%@ 03. Q©D 04. 6O% 05. 8X?



M 4 # 6 7 O H 3 % S C @ 8 X & * Q Y © Z B D 1 ? F E 

How many such consonants are there in the above arrangement 

each of which is immediately preceded by a symbol and 

immediately followed by a vowel? 

उपरोि व्यवस्था में ऐसे क्तकतिे व्यंिि हैं क्तििमें से प्रत्येक के ठीक पहले एक प्रतीक 

और ठीक बाद में एक स्वर ह?ै

01. None 02. One 03. Two 04. Three 05. More than three 



M 4 # 6 7 O H 3 % S C @ 8 X & * Q Y © Z B D 1 ? F E 

Which of the following element is ninth to the left of fourteenth 

element from the right end ? 

क्तिम्िक्तलक्तखत में से कौि सा तत्व दायें छोर से चौदहवें तत्व के बायें से िौवें स्थाि 

पर ह?ै 

01. # 02. 4 03. 6 04. O 05. None of these 



M 4 # 6 7 O H 3 % S C @ 8 X & * Q Y © Z B D 1 ? F E M 4 

What will come in place of the question-mark (?) in the following 

series based on the above arrangement? 

उपरोि व्यवस्था के आधार पर क्तिम्िक्तलक्तखत श्रंखला में प्रश्नवाचक क्तचन्ह (?) के

स्थाि पर क्या आयेगा? 

46H, O3C, S@&, (?)

1. X©* 02. X*© 03. *YB 04. Y*B 

05. None of these



1. If only conclusion I follows. 

2. If only conclusion II follows. 

3. If either conclusion I or II follows. 

4. If neither conclusion I nor II follows. 

5. If both conclusions I and II follow.

1. यक्तद केवल क्तिष्कर्ष I अिसुरण करता ह।ै 

2. यक्तद केवल क्तिष्कर्ष II अिसुरण करता ह।ै 

3. यक्तद या तो क्तिष्कर्ष I या II अिसुरण करता ह।ै 

4. यक्तद ि तो क्तिष्कर्ष I और ि ही II अिसुरण करता ह।ै 

5. यक्तद क्तिष्कर्ष I और II दोिों अिसुरण करते हैं।



Which of the following explanation is true? 

Statement : B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X II. Z ≤ C



Which of the following explanation is true? 

Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. T > O II. T = O



Which of the following explanation is true? 

Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions: I. A > D II. S ≤ E



Which of the following explanation is true? 

Statements: A > B ≤ C = D ≤ E, C ≥ F = G > H

Conclusions: I. C < H II. A > H



In a certain code a number AF is written as 14 . How is HL written in 

that code ?

एक निनित कोड में एक सखं्या AF को 14 के रूप में निखा जाता है। उस कोड में HL

को कैसे निखा जाता है?

(A) 25

(B) 49 

(C) 30 

(D) 43

(E) None of these



In a Certain code TAGS is written as 61,than find the code for 

MEANS?

एक निनित कोड में TAGS का कोड 61 निखा गया है तो MEANS का कोड क्या

होगा ?

(1) 71

(2) 83

(3) 52

(4) 79

(5) None of these



In a Certain code POWER is written as FDTPJ ,than find the code for 

SHARE?

एक निनित कोड में POWER का कोड FDTPJ निखा गया है तो SHARE का कोड

क्या होगा ?

(1) LJXJP

(2) RTGIZ

(3) GFQSD

(4) TRIGB

(5) None of these



कथि: 

केवल कुछ V, X हैं। 

कोई C, X िहीं ह।ै 

कोई Z, X िहीं ह।ै 

क्तिष्कर्ष: 

सभी Z के V होिे की संभाविा ह।ै 

सभी V के Z होिे की संभाविा है

Statement: 

A) Only a few V are X. 

B) No C is X. 

C) No Z is X. 

Conclusion: 

I) All Z being V is a possibility. 

II) All V being Z is a possibility



Statement: 

A) Only a few V are X. 

B) No C is X. 

C) No Z is X. 

Conclusion: 

I) All Z being V is a possibility. 

II) All V being Z is a possibility



Statement: 

A) No A is F. 

B) No G is F. 

C) No A is D. 

Conclusion: 

I) Some A being G is a 

possibility. 

II) All F being D is a 

possibility. 

कथि: 

कोई A, F िहीं ह।ै 

कोई G, F िहीं ह।ै 

कोई A, D िहीं ह।ै 

क्तिष्कर्ष: 

कुछ A के G होिे की संभाविा ह।ै 

सभी F के D होिे की संभाविा ह।ै



Statement: 

A) No A is F. 

B) No G is F. 

C) No A is D. 

Conclusion: 

I) Some A being G is a 

possibility. 

II) All F being D is a 

possibility. 



Statement: 

A) No 11 is 12. 

B) All 11 are 13. 

C) Some 13 are 17. 

Conclusion: 

I) No 13 is 12. 

II) All 17 being 12 is a 

possibility.

कथि: 

िंबर 11, 12 ह.ै 

सभी 11, 13 हैं। 

कुछ 13, 17 हैं। 

क्तिष्कर्ष: 

िंबर 13, 12 ह.ै 

सभी 17 के 12 होिे की संभाविा ह।ै



Statement: 

A) No 11 is 12. 

B) All 11 are 13. 

C) Some 13 are 17. 

Conclusion: 

I) No 13 is 12. 

II) All 17 being 12 is a 

possibility.



कथि: 

सभी P, R हैं।

कोई L , R िहीं ह।ै 

कुछ L , K हैं। 

क्तिष्कर्ष: 

कुछ L के P होिे की संभाविा ह।ै 

सभी P के K होिे की संभाविा ह।ै

Statement: 

(A) All P are R. 

(B) No L is R. 

(C) Some L are K. 

Conclusion: 

(I) Some L being P is a 

possibility. 

(II) All P being K is a possibility.



Statement: 

(A) All P are R. 

(B) No L is R. 

(C) Some L are K. 

Conclusion: 

(I) Some L being P is a 

possibility. 

(II) All P being K is a possibility.



Statement: 

(A) Some Z are N. 

(B) All L are Z. 

(C) No Z is K. 

Conclusion: 

(I) No K is L. 

(II) Some L being N is a 

possibility.

कथि: 

कुछ Z, N हैं। 

सभी L , Z हैं। 

कोई Z , K िहीं ह।ै 

क्तिष्कर्ष: 

कोई K, L िहीं ह।ै 

कुछ L के N होिे की संभाविा ह।ै



Statement: 

(A) Some Z are N. 

(B) All L are Z. 

(C) No Z is K. 

Conclusion: 

(I) No K is L. 

(II) Some L being N is a 

possibility.



In a certain code language, 

G P Y B is written as 2 2 2 7. 

W Q O T is written as 4 1 3 7. 

A S X V is written as 8 8 3 5. 

Code 2-3-6-5-4-4 is indicated by which of the following words?

कोड 2-3-6-5-4-4 क्तिम्िक्तलक्तखत में से क्तकस शब्द द्वारा दशाषया गया ह?ै

(1) SILVER 

(2) GOLDEN 

(3) PRAYER 

(4) GRAPES 

(5) GROWTH



In a family, D is father of V. S is the wife of V and mother of T. T is the 

grandson of E who is the mother of B. R is husband of G who is the sister 

of B. J is son of G and brother of N. B is sister-in-law of V. 

How many female member there in the family? 

एक पररवार में, D, V का क्तपता ह।ै S, V की पत्िी ह ैऔर T की माता ह।ै T, E का नवासा
ह,ै िो B की माता ह।ै R, G का पक्तत ह,ै िो B की बहि ह।ै J, G का पतु्र ह ैऔर N का भाई 

ह।ै B, V की क्तसस्टर-इि-लॉ ह।ै पररवार में क्तकतिी मक्तहला सदस्य हैं?

01. Three 02. Four 03. Five 04. Six 05. CND



In a family, D is father of V. S is the wife of V and mother of T. T is the 

grandson of E who is the mother of B. R is husband of G who is the sister 

of B. J is son of G and brother of N. B is sister-in-law of V. 

How many female member there in the family? 



Point Q is 16m north of point W. Point A is 10m west of point K. 

Point S is 5m west of point W. Point K is 9 m north of Point P. 

Point S is 25m south of point A.

न ंदु Q, न ंदु W के उत्तर में 16 मीटर की दूरी पर है। न ंदु A, न ंदु K के 10 मीटर 

पनिम में नथित है। न ंदु S, न ंदु W से 5 मीटर पनिम में है। न ंदु K, न ंदु P के 9 

मीटर उत्तर में नथित है। न ंदु S, न ंदु A के 25 मीटर दनिण में है।

Q.1. What is the direction of Point K with respect to Point S? 

न ंदु S के स ंंध में न ंदु K की नदशा क्या है?

(1) East (2) South (3) North-east (4) South-east (5) North-west 



Q. Point Q is 16m north 

of point W. Point A is 

10m west of point K. 

Point S is 5m west of 

point W. Point K is 9 m 

north of Point P. Point S 

is 25m south of point A.



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 

persons attend the conference between N and 

M, who attend the conference before J. The 

number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.

दस व्यक्ति, J, K, L, M, N, O, P, Q, R, और S क्तवक्तभन्ि 

महीिों, ििवरी, माचष, ििू, क्तसतंबर, और िवंबर की क्तवक्तभन्ि 

क्ततक्तथयों, 17 और 28 को सम्मेलि में भाग लेते हैं। साल। K, 

R से पहले भाग लेता ह ैलेक्तकि ििवरी में िहीं। R, N से 

पहले उपक्तस्थत होता ह।ै S, Q से पहले उपक्तस्थत होता ह ै

और दोिों एक ही तारीख को उपक्तस्थत होते हैं। J 31 क्तदिों 

वाले महीिे की 17 तारीख को सम्मेलि में भाग लेता ह।ै J 

और N के बीच तीि व्यक्ति सम्मेलि में भाग लेते हैं। N और 

M के बीच चार व्यक्ति सम्मेलि में भाग लेते हैं, िो J से 

पहले सम्मेलि में भाग लेते हैं। M के बाद सम्मेलि में भाग 

लेिे वाले व्यक्तियों की संख्या, L से पहले भाग लेिे वाले 

व्यक्तियों की संख्या के बराबर ह।ै N और P के बीच एक 

व्यक्ति सम्मेलि में भाग लेता ह।ै



Ten persons, J, K, L, M, N, O, P, Q, R, and S 

attend the conference on different dates, 17th, 

and 28th of different months, January, March, 

June, September, and November in a year. K 

attends before R but not in January. R attends 

before N. S attends before Q and both attend on 

the same date. J attends the conference on the 

17th of a month having 31 days. Three persons 

attend the conference between J and N. Four 

persons attend the conference between N and 

M, who attend the conference before J. The 

number of persons attending the conference 

after M is equal to the number of persons 

attending before L. One person attends the 

conference between N and P.



A, B, C, D, E, F, and G are seven friends. They 

play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 

players. Each one of them has a favorite color 

viz. Pink, Blue, White, Green, Yellow, Red, and 

Black, but not necessarily in the same order. 

None of the Rugby players likes White or Red 

color. B likes Yellow and plays Rugby. The one 

who likes Black plays the same game as E but 

not as G and D . C likes Blue and plays the 

same game as G. D plays Tennis only with the 

one, who likes Pink. G plays neither Tennis nor 

Rugby. F does not like Black. G likes neither 

Green nor White. D does not like Green. E does 

not like Pink. A doesn't like pink. G play with 

only one person .

A, B, C, D, E, F और G सात क्तमत्र हैं। वे तीि प्रकार के 

खले खलेते हैं अथाषत। बेसबॉल, टेक्तिस और रग्बी। प्रत्येक 

खेल कम से कम दो क्तखलाक्तडयों द्वारा खेला िाता ह।ै उिमें से 

प्रत्येक का एक पसंदीदा रंग ह ैअथाषत। गलुाबी, िीला, 

सफेद, हरा, पीला, लाल और काला, लेक्तकि आवश्यक िहीं 

इसी क्रम में हो। कोई भी रग्बी क्तखलाडी सफेद या लाल रंग 

पसंद िहीं करता ह।ै B को पीला रंग पसंद ह ैऔर वह रग्बी 

खलेता ह।ै वह व्यक्ति क्तिसे काला रंग पसंद ह ैवह E िैसा 

खले खलेता ह ैलेक्तकि G और D के समाि िहीं। C िीला 

रंग पसंद करता ह ैऔर G के समाि ही खले खलेता ह।ै D 

केवल उस व्यक्ति के साथ टेक्तिस खेलता ह ैक्तिसे गलुाबी रंग 

पसंद ह।ै G ि तो टेक्तिस ि ही रग्बी खेलता ह।ै F को काला 

रंग पसंद िहीं ह।ै G को ि तो हरा ि ही सफेद पसंद ह।ै D को 

हरा रंग पसंद िहीं ह।ै E को गलुाबी रंग पसंद िहीं ह।ै A को 

गलुाबी रंग पसंद िहीं ह।ैG केवल एक व्यक्ति के साथ 
खेलिा है।



A, B, C, D, E, F, and G are seven friends. They 

play three types of games viz. Baseball, Tennis, 

and Rugby. Each game is played by at least two 

players. Each one of them has a favorite color 

viz. Pink, Blue, White, Green, Yellow, Red, and 

Black, but not necessarily in the same order. 

None of the Rugby players likes White or Red 

color. B likes Yellow and plays Rugby. The one 

who likes Black plays the same game as E but 

not as G and D . C likes Blue and plays the 

same game as G. D plays Tennis only with the 

one, who likes Pink. G plays neither Tennis nor 

Rugby. F does not like Black. G likes neither 

Green nor White. D does not like Green. E does 

not like Pink. A doesn't like pink. G play with 

only one person .



Eleven people P, Q, R, S, T, U, V, W, X, Y and Z 

lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 

the top-most floor numbered is '11'. There are only 

three floors between Z and R. Z lives above R . U, 

P and Y do not live on odd number floor. W lives 

immediately below to X. There are only two floors 

between R and X. P lives exactly between R and V. 

Q lives fourth from the top. Y lives immediately 

above to S but does not live above to R. Number of 

person lives between T and Z is same as the 

number of people lives between S and W. R and X 

do not live on the fourth floor. R lives below sixth 

floor.

ग्यारह व्यक्ति P, Q, R, S, T, U, V, W, X, Y और Z 

एक इमारत में रहते हैं लेक्तकि िरूरी िहीं क्तक इसी क्रम में हों। 

उस इमारत में ग्यारह मंक्तिल हैं और प्रत्येक मंक्तिल पर केवल 

एक व्यक्ति रहता ह।ै भतूल की संख्या '1' ह ैऔर तल के ऊपर 

'2' ह ैऔर इसक्तलए सबसे ऊपरी मंक्तिल पर संख्या '11' ह।ै Z 

और R के बीच केवल तीि मंक्तिल हैं। Z, R के ऊपर रहता 

ह।ै U, P और Y क्तवर्म संख्या वाली मंक्तिल पर िहीं रहते हैं। 

W, X के ठीक िीचे रहता ह।ै R और X के बीच केवल दो 

मंक्तिल हैं। P, R और V के ठीक बीच में रहता ह।ै Q ऊपर से 

चौथे स्थाि पर रहता ह।ै Y, S के ठीक ऊपर रहता ह ैलेक्तकि 

R के ऊपर िहीं रहता ह।ै T और Z के बीच रहिे वाले 

व्यक्तियों की संख्या उतिी ही ह ैक्तितिी क्तक S और W के 

बीच रहिे वाले लोगों की संख्या। R और X चौथी मंक्तिल पर 

िहीं रहते हैं। R छठी मंक्तिल के िीचे रहता ह।ै



Eleven people P, Q, R, S, T, U, V, W, X, Y and Z 

lives in a building but not necessarily in the same 

order. There are eleven floors in that building and 

only one person live on each floor. Ground floor 

numbered is '1' and above the floor is ‘2’ and so on 

the top-most floor numbered is '11'. There are only 

three floors between Z and R. Z lives above R . U, 

P and Y do not live on odd number floor. W lives 

immediately below to X. There are only two floors 

between R and X. P lives exactly between R and V. 

Q lives fourth from the top. Y lives immediately 

above to S but does not live above to R. Number of 

person lives between T and Z is same as the 

number of people lives between S and W. R and X 

do not live on the fourth floor. R lives below sixth 

floor.



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.

आठ व्यक्ति F, G, H, I, J, K, L और M एक ही वर्ष के 

चार अलग-अलग महीिों ििवरी, अपै्रल, िवंबर और 

क्तदसंबर में सेक्तमिार में भाग लेते हैं लेक्तकि िरूरी िहीं क्तक

इसी क्रम में हों। संगोष्ठी महीिे की 15 या 25 तारीख को 

आयोक्तित की गई थी। G महीिे की 15 तारीख को सेक्तमिार 

में भाग लेता ह ैक्तिसमें केवल 30 क्तदि होते हैं। M और J, 

G से पहले समाि महीिे में सेक्तमिार में भाग लेते हैं, लेक्तकि 

अपै्रल में िहीं। M, J के बाद सेक्तमिार में भाग लेता ह।ै F के

बाद कोई भी सेक्तमिार में भाग िहीं लेता ह।ै M और K के 

बीच केवल एक व्यक्ति सेक्तमिार में भाग लेता ह।ै H और L 

दोिों अलग-अलग महीिों की 15 तारीख को सेक्तमिार में 

भाग लेते हैं। L क्तदसंबर में सेक्तमिार में भाग िहीं लेता ह।ै L 

और मैं एक ही महीिे में सेक्तमिार में भाग लेते हैं।



Eight persons F, G, H, I, J, K, L and M attend 

seminar on four different months January, 

April, November and December of the same 

year but not necessarily in the same order. 

Seminar was held on either 15th or 25th of the 

month. G attends seminar on 15th of the 

month which has only 30 days. M and J 

attends the seminar in the same month before 

G, but not in April. M attends the seminar 

after J. No one attends the seminar after F. 

Only one person attends the seminar between 

M and K. Both H and L attend the seminar on 

15th of different months. L does not attend the 

seminar in December. L and I attend the 

seminar in the same month.



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East

आठ कारें A, B, C, D, E, F, G और H एक 

क्तिक्तित दरूी के भीतर एक पाकष में हैं। कार A, कार 

B के 8 क्तकमी पवूष में ह,ै िो कार D के 9 क्तकमी 

उत्तर में ह।ै कार C, कार F के 5 क्तकमी दक्तिण में ह,ै 

िो कार G के 6 क्तकमी पक्तिम में ह।ै कार G, कार 

A के 4 क्तकमी उत्तर में ह।ै कार E, कार C के 8 

क्तकमी पक्तिम में ह।ै कार H, कार E के 2 क्तकमी 

दक्तिण में ह।ै कार G, कार C के संदभष में क्तकस 

क्तदशा में ह?ै 

1.उत्तर 

2. दक्तिण 

3. पवूष 

4. दक्तिण-पक्तिम 

5. उत्तर-पवूष



There are eight cars A, B, C, D, E, F, G, and H 

in a park within a certain distance. Car A is 

8km to the east of Car B, which is 9km north of 

Car D. Car C is 5km to the south of Car F, 

which is 6km to the west of Car G. Car G is 

4km to the north of Car A. Car E is 8km to the 

west of Car C. Car H is 2km to the south of Car 

E. Car G is in which direction with respect to 

Car C? 

1. North 

2. South 

3. East 

4. South-West 

5. North-East



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.

कुछ क्तडब्बे एक के ऊपर एक रखे हुए हैं। बॉक्स D को 

बॉक्स B के िीचे रखा गया ह ैलेक्तकि बॉक्स B के 

ठीक िीचे िहीं रखा गया ह।ै बॉक्स D को बॉक्स J 

और बॉक्स K के ठीक बीच में रखा गया ह।ै बॉक्स E 

को बॉक्स H के ऊपर रखा गया ह।ै बॉक्स F को 

बॉक्स B के क्तिकट िहीं रखा गया ह।ै बॉक्स G को 

ठीक िीचे रखा गया ह।ै क्तडब्बा K. क्तडब्बा I ढेर के 

शीर्ष पर िहीं ह।ै बॉक्स B के ऊपर तीि बॉक्स हैं। J 

और I के बीच तीि बॉक्स हैं। बॉक्स A और बॉक्स J 

के बीच दो बॉक्स हैं। बॉक्स C, बॉक्स F के ठीक 

ऊपर रखा गया ह।ै बॉक्स B और बॉक्स K के बीच 

दो बॉक्स हैं। क्तडब्बा G और क्तडब्बा F के मध्य दो 

क्तडब्बे हैं।



Some boxes are stacked one above the 

other. Box D is placed below Box B but not 

immediately below Box B. Box D is placed 

exactly between Box J and Box K. Box E is 

placed above Box H. Box F is not kept 

adjacent to Box B. Box G is kept 

immediately below box K. Box I is not at 

the top of the stack. There are three boxes 

above box B. There are three boxes 

between J and I. There are two boxes 

between Box A and Box J. Box C is placed 

immediately above Box F. There are two 

boxes between box B and box K. There are 

two boxes between box G and Box F.


